
Problem 1


The project to be paved is a 1 mile long roadway that is 24 feet wide. If the contract calls for asphalt to be placed at 150 pounds per square yard, how many tons of asphalt will be needed to pave the project?

1 mile = 5280 feet (f)
1 square yard (sy) = 9 square feet (sf)
1 Ton = 2000 pounds (lbs)

Problem) Determine the total square yards on the roadway.

	Step 1) Determine how many sf
5280ft x 24ft = 126,720 sf
	Step 2) Determine how many sy
126,720 sf / 9 = 14,080 sy
	Step 3) Determine how many pounds of Asphalt are required
			14,080 sy x 150 lbs = 2,112,000 pounds
	Step 4) Determine the amount of tons that is required to pave the project
			2,112,000 pounds / 2000 = 1056 Tons



























Problem 2

The Asphalt Mix is made up of several different aggregates and liquid asphalt. For the Asphalt plant to produce mix, the control computer needs to be set to equal the proper percentages of each material.
The Mix Design being used calls for the following aggregates.

Aggregate A = 9%
Aggregate B = 19%
Aggregate C = 30%
Aggregate D = 12%
Aggregate E = 8%
Aggregate F = 22%
		9+19+15+15+12+8+22=100% of total aggregate


The mix Design also calls for 5.8% percent liquid asphalt to be added to the mix after the aggregate has been blended together.

Problem) If the Asphalt Plant is going to produce 1056 tons of this mix, how many tons of each material is needed. 

	Step 1) Determine how much of the total mix will be aggregate and how much will be liquid
		1056 x .058 (Liquid Percentage) = 61.248 tons of liquid needed
	Determine total tons of aggregate by subtracting the tons of liquid from the total tons.
	1056 - 61.25 = 994.75

	So…we need 61.25 Tons of liquid asphalt and 994.75 tons of aggregate


Step 2) Determine the amount of each aggregate that is needed
	
[bookmark: _Hlk25315779]	Aggregate A) 994.75 x .09 = 89.52
	Aggregate B) 994.75 x .19 = 189.00
	Aggregate C) 994.75 x .30 = 298.43
	Aggregate D) 994.75 x .12 = 119.37
	Aggregate E) 994.75 x .08 = 79.58
		Aggregate F) 994.75 x .22 =218.85
		










Problem 3

Density is determined by dividing the weight of something by its volume. 
Density is also known as Specific Gravity
Specific Gravity is how much something weighs compared to the same volume of water
Density or Specific Gravity = Weight/ Volume


Lab Problem 1

Determine the Specific Gravity of a Bulk Pill (BSG) 
	Step 1) Measure the Dry weight of the Bulk Pill (A)
	Step 2) Measure the weight of the pill under water (B)
	Step 3) Measure the Weight of the Bulk Pill Saturated Surface Dry (C)
	Step 4) Determine the Volume of the Bulk Pill
		C -B = D
	Step 5) Determine the Specific Gravity of the Bulk Pill
		A / D

[bookmark: _Hlk25318805]	A / (C – B) = Bulk Specific Gravity (BSG)

So if…
A = 4674.6 grams
B = 2645.5 grams
     	C = 4677.9 grams
What is the BSG 
Follow the Formula  A / (C – B) = Bulk Specific Gravity (BSG)

4674.6 / (4677.9-2645.5) = 2.300
Which means that this pill equals 2.3 times the weight of water a given volume.

[bookmark: _GoBack]So if 1 cubic foot of water weighs 62.4 lbs, then how much does 1 cubic foot of this asphalt weigh

2.3 x 62.4 = 143.52 lbs per cubic foot






	
